il < S a o] Le] L
A
B
|
i magnets bunting NEP 3054 NP |
T ‘ -f 1/2" diameter, 1/2” height ‘
c ! !
| |
| I
I [
|
|| |
|
|
|
b |
|
|
|
|| |
e . =
|
|
|
E qu |
" [
‘ 38
Ll o | /
N
A7
=
G .
in the central tube only
b 66 "
AD-L16O
I
m A added damper 19-07-05
-, - wote wots sioarre
modifications
39 | 137 |smll flex joint bose pl. [
] 38 | 137 [1/2 cup retainer
37 | 137 [top leg disk 95 | 154 |mognets suport
36 | 137 |small fiex joint|| 94 |154 |magnets separator
35 |136 | IP leg 71 [ 138 |Adv_LIGO flex foint bose
34 | 137 | flex joint connector| | 67 | 135 |flex joint base
33 | 138 | mint.locking screw| | 66 | 135 |Adv-LIGO ext. spool
1 32 | 138 | safety tube B3 [ 136 [C. weight
31 136 | LIGO-1 sofety tube ext.) 62 136 |c. weight bel|
30 | 135 [ main flex joint 41 137 |disk
29 | 135 | LIGO-I flex joint base 40 [ 137 |1/2 cups
To2 Tommy Teod Wiox3s 5 e | aom aoo 1eora v, | o oot togra
38-37 tommy head M3x12 (s) 8 o ——
39-41 tommy head M4x12 8 -le Salvo
L
3132 Tommy head MT0x25_ (5) | 16 3@ LIGO PROJECT [ Eoaorrowsc | |-
1-31 tommy head M10x30 16 NOTE: The details 93 ond 30 must be aligned 1200
1-29 fommy head M10x30 16 and siip fit with the details 71. 67. 29 R
Jetarl Type npiec. P HAM-OPTICAL TABLE |L160-D050107-01-D
Screw’s table INVERTED PENDULUM R [A1




